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Numerical Investigation on Thermal Striping Conditions for a Tee Junction of LMFBR Coolant Pipes (IV)

- Investigation on Second-Order Moments in Coolant Mixing Region -

*

Toshiharu MURAMATSU

Abstract

This report presents numerical results on thermal striping characteristics at a tee junction of LMFBR
coolant pipe, carried out using a direct numerical simulation code DINUS-3. In the numerical investigations, it was
considered a tee junction system consisted of a main pipe (1.33 cm"D') with 2 90° elbow and a branch pipe, and four
parameters, i.e., (1) diameter ratio & between both the pipes, (2) flow veiocity ratio B between both the pipes, (3) angle

Y between both the pipes, and (4) Reynolds number Re,

From the numerical investigations, the following characteristics were obtained:

(1) According to the decreasing of the diameter ratio, significant area of second-order moments was

expanded in the fixed condition of $=1.0.

(2) Significant second-order moments area was expanded for the increasing of the flow velocity ratio B
specified by varying of the main pipe velocity in the case of a 0=1.0 constant condition. On the
other hand, the area was expanded for the decreasing of the velocity ratio B defined by varying of the

branch pipe velocity in the case of a 6t=3.0 constant condition.

(3) Maximum second-order moments values were generated in the case of =180 © due to the influence of

interactions between main pipe flows and jet flows from the branch pipe.

(4) According 1o the increase of Reynolds number, significant area of second-order moments was

expanded due to the activation of turbulence mixing in the main pipe.

* 1 Thermal Hydraulic Research Group, System Engineering and Technology Division, OEC, INC.
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& 4.
4.
B 4.
& 4.
& 4.
X 4.
B 4.
Ed 4.
& 4.
X 4.
B 4.
& 4.
X 4.
X 4.
[ 4.
] 4.
B 4.
] 4.
= 4.
& 4.
4 4.
B 4.
4.
& 4.
A 4.
& 4.
= 4.
[ 4.
= 4.
4 4.
] 4.
& 4.
K 4.
B 4.
] 4.
N

66
67
68
69
70
71
72
73
74
73
76
77
78
79
30
81
82
a3
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101

Re [E7) u* W' 575 (Case Bi-4: 0, = 1.0, B =4.0, y =90°, Re, =22,504)

Re JEH V' V' 5397 (Case Pl-4: o0 = 1.0, B=4.0, v = 90°, Re,, =22,504)

Re I57) V' W' 5375 (Case Bi-4: o0 = 1.0, B=4.0, ¥ =90°, Re, =22,504)

Re l&/1 w' W' 5377 (Case Bl-4: o = 1.0, B=4.0, y =90°, Re, =22,504)
LU u” T 57 (Case Bi-1: 0 = 1.0, B=0.25, ¥ =90°, Re_ = 1,407)
BLARAGER v’ T' 5375 (Case B1-1: & = 1.0, B=0.25, y =90°, Re_ = 1,407)
BB w' T' 537 (Case BI-1: o0 = 1.0, B=0.25, 1 =90°%, Re, = 1,407)
ELIREGRA 0 T 54 (Case B1-2: o = 1.0, B=0.5, v = 90°, Re, =2,813)
ELRSIR v' T 495 (Case B1-2: o = 1.0, B=0.5, y = 90°, Re,, =2,813)
BLITAGIR w' T' 4346 (Case P1-2: o = 1,0, B=0.5, y =90°, Re =2,813)
ARSI u' T" 57 (Case Bl-3: o = 1.0, B=2.0, v = 90°, Re = 11,252)
ELIRAITIR v T 2046 (Case B1-3: @ = 1.0, B=2.0, 7 =90°, Re =11,252)
BLIREAHEIR w' T' 247 (Case B1-3: o = 1.0, p=2.0, v = 90°, Re = 11,252)
ELREGER u' T 5775 (Case Bl-4: o = 1.0, B=4.0, ¥ =90°, Re_ = 22,504)
BLALAR v' T' 537 (Case Bl-4: 0. = 1.0, B=4.0, y =90°, Re_ =22,504)
ALILATEH w' T' 57 (Case P14 : o = 1.0, B=4.0, y =90°, Re  =22,504)
Re J57 0" U' 577 (Case B2-1 : 00 =3.0, B=0.5, ¥ =90°, Re, , =5,626)

Re B u' v' 44 (Case f2-1: o = 3.0, B=0.5, ¥ =90°, Re_ =5,626)

Re l6/ u' w' 5345 (Case f2-1: & =3.0, B=0.5, y =90°, Re,, =5,626)

Re 571 V' v' 5375 (Case p2-1: o = 3.0, B=0.5, y = 90°, Re, =5,626)

Re 577 v\ W' 57 (Case B2-1 : o = 3.0, B=0.25, y =90° Re_, = 5,626)

Re l3J] W' w' S (Case f2-1: & =3.0, B=0.5, y = 90°, Re, = 5,626)
ReJ577 u' ' 537 (Case P22 : &0 =3.0, B=5.0, ¥ =90°, Re_ = 5,626)

Re i/ u' v' 53 (Case f2-2 : @ =3.0, B=5.0, y = 90°, Re,, = 5,626)

Re I/ u' w' 534 (Case f2-2: a =3.0, =50, y =90°, Re, = 5,626)

Re I577 V' V' 545 (Case f2-2 : a0 =3.0, B=5.0, y = 90°, Re_ = 5,626)

Re xf) v' w' 537 (Case f2-2 : o0 =3.0, B=5.0, v =90°, Re, =5,626)

Re I&/1 W' w' 437 (Case B2-2: a0 =3.0, B=5.0, v =90°, Re , = 5,626)

Re 577 u' u' 545 (Case f2-3: o = 3.0, B=10.0,v =90% Re_ = 5,626)

- RelEAJu' v' 3% (Case P23 : 0 = 3.0, B=10.0, ¥ =90°, Re__ = 5,626)

Re [E:77 0" W' 534 (Case B2-3 : . =3.0, B=10.0, ¥ = 90°, Re,,, =5,626)
Re 571 V' v' 537 (Case f2-3 : o0 = 3.0, B = 10.0, 7 = 90°, Re,, = 5,626)
Re 57TV W' 537 (Case f2-3 : o0 =3.0, B=10.0, 7 = 90°, Re,, = 5,626)
ReIG7] W' W' 547 (Case B2-3: 0. =3.0, B=10.0, y =90°, Re,_ =5,626)
LAV 0™ T 4 (Case B2-1: . =3.0, B=0.5, y =90°, Re,_ =5,626)
AL v' T 534 (Case P2-1: @ =3.0, B=0.5, v = 90°, Re_, =5,626)

viii



INC TN9400 2000—008

& 4.
B 4.
B 4.
= 4.
£ 4.
g 4.
] 4.
X 4.
] 4.
] 4,
X 4.
B2 4.
B 4.
K 4.
=] 4.
X 4.
& 4.
[ 4.
X 4.
X 4.
& 4.
X 4.
& 4.
B 4.
& 4.
[ 4.
[ 4.
X 4.
X 4.
B 4.
] 4.
X 4.
1% 4.
X 4.
& 4.
[ 4.

102
103
104
105
106
107
108

109

110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125

126

127
128
129
130
i31
132
133
134
135
136
137

BLILBIR w' T' 435 (Case B2-1: o0 =3.0, B=0.5, 7 = 90°, Re,, = 5,626)
BUESIAA U T' 5 (Case B2-2: 00 =3.0, B=50, 7 =90°, Re_ =5,626)
BLIMATER v' T' 44 (Case B2-2: 00 =3.0, B=5.0, v =90°, Re, = 5,626)
BLFEBRIEI W' T' 547 (Case P2-2 : o =3.0, B= 5.0, y =90°, Re_ =5,626)
ELFAIHE v T' 574 (Case B2-3 : & = 3.0, B = 10.0, v =90°, Re_ = 5,626)
FLIBITH v' T' 595 (Case B2-3 : o0 = 3.0, B =10.0, y =90° Re,, =5,626)
BLILBIEI W' T' 57 (Case P2-3: ¢ =3.0, B = 10.0, y =90°, Re,, =5.626)
Re 57 0 0 495 (Case v-1: o =3.0, B=1.0, 1 =90°, Re, =11,252)

Re JG/I U v' 545 (Case v-1: a0 =3.0, B=1.0, 7 = 90°, Re = 11,252)

Re JG) u” w' 4377 (Case v-1: = 3.0, B= 1.0, y = 50°, Re, = 11,252)

Re [EH V' V' 534 (Case y-1: @ =3.0, B = 1.0, y = 90°, Re,, = 11,252)

Re 571 V' W' 535 (Case y-1 : o0 =3.0, B=1.0, y = 90°, Re_ =11,252)

Re 5 W' W' £ (Case y-1: &t =3.0, B=1.0, 7 =90°, Re,, = 11,252)

Re J577 0" u' 547 (Case y-2: & =3.0, B=1.0, y = 180°, Re_ =11,252)

Re 577 0" v' 54 (Case 7-2 : 0. = 3.0, B=1.0, vy =180° Re_, = 11,252)
ReJ5H u' W' 4447 (Case v-2: o0 =3.0, B= 1.0, y = 180°, Re,, =11,252)
Re J5/ V' V' 5 (Case y-2: 00 =3.0, B=1.0, y = 180°, Re = 11,252)

Re lB71 V' W' 53ffi (Casey-2: a0 =3.0, B=1.0, 7 = 180°, Re = 11,252)
Re fi) W' W' 519 (Case 7-2: &0 =3.0, B= 1.0, 7 = 180°, Re_, =11,252)
Re [G77 0" u' 54 (Case v-3: a0 =3.0, B=1.0, y =0°, Re_ = 11,252)

Re S5/ 0" v' 545 (Case y-3: 00 =3.0, B=1.0, y =0°, Re_ = 11,252)

Re [G/1 U W' 5 (Casey-3: a =3.0, = 1.0, y = 0°, Re,, = 11,252)

Re J&77 V' V' 53 (Case y-3: 00 =3.0, B= 1.0, ¥ =0°, Re_ = 11,252)

Re 57 v W' 575 (Casey-3: a0 =3.0, B= 1.0, ¥ = 0°, Re_ = 11,252)
Rel57) W' w' 575 (Case v-3: & =3.0, B= 1.0, y =0°, Re =11,252)
FLHEAHE 0" T 5% (Case y-1: o =3.0, B=10,v=90°, Re =11,252)
BLIRAAMR v\ T 55 (Case y-1: e =3.0, B= 1.0, 7 = 90°, Re,, =11,252)
ELTEATER W' T 57 (Casey-1: 0 =3.0, B = 1.0, y =90°, Re,, = 11,252)
BLIEGER u” T 2 (Casey2: 0 =3.0, B=1.0, y = 180°, Re  =11,252)
TLIATER v T 54 (Casey-2: o0 =3.0, B=1.0, y = 180°, Re = 11,252)
ELREITR w' T’ 5 (Casey-2: e =3.0, f= 1.0, 7 = 180°, Re,, = 11,252)
FLSGR u' T 97 (Case y-3: @ =3.0, B=1.0, 7 =0°, Re,, = 11,252)
BLALBGRSE v T 5345 (Casey-3: 00 =3.0, B= 1.0,y =0°, Re, = 11,252)
EAHAR w' T 574 (Casev-3: a0 =3.0, p= 1.0, v =0°, Re,, = 11,252)
Re 577 U™ ' 534 (Case Re-1: a0 =3.0, B= 1.0, ¥ =90°, Re,_ =28,130)
Re [/ U V' 5 (Case Re-1 : o =3.0, B=1.0, v =90°, Rém =28,130)
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B 4.
4,
& 4,
B 4.
& 4.
& 4.
X 4.
K 4.
4.
X 4.
I 4.
= 4.
& 4.
& 4.
X 4,
% 4.

B A
& A.
A
B4 A.
B A.
& A.
H A.
A
B A.
5 A

E A.

138
139
140
141
142
143
144
145

146 -

147
148
149
150
151
152
153

Re J57) u” W' 55 (Case Re-1: = 3.0, B=1.0, 7 =90°, Re_ =28,130)

Re B v' V' 5376 (Case Re-1: ot =3.0, B= 1.0, y = 90°, Re,, =28,130)

Re [E7) V' W' 5 (Case Re-1: @ =3.0, B= 1.0, ¥ = 90°, Re_ =28,130)

Re JE/) W' W' 537 (Case Re-1: . =3.0, p=1.0, 7 = 90°, Re_ =28,130)
Re [57] u” U’ 5 (CaseRe-2: a =3.0, B=1.0, 7 = 90°, Re_ =56,261)
ReJE7 u' V' 5% (Case Re-2: ot =3.0, B=1.0, y = 90°, Re,, = 56,261)
Re[5H u' w' 4345 (Case Re-2: 00 =3.0, B= 1.0, v =90°, Re_ = 56,261)

Re [E7] V' V' 7 (CaseRe-2: ot =3.0, B= 1.0, ¥ = 90°, Re_ =56,261)

Re 5/ v W' 537 (Case Re-2: ot = 3.0, B= 1.0, v = 90°, Re,, =56,261)

Re JE5/1 W' W' 59 (Case Re-2: @ =3.0, B=1.0, ¥ =90°, Re, = 56,261)
ALILAREH u” T 54 (CaseRe-1: 00 =3.0, B= 1.0, ¥ =90°, Re_ =28,130)
ELIRAMITR v’ T' 5 (Case Re-1: 0 =3.0, B=1.0, ¥ =90° Re_ =28,130)
ELIAIH W' T 44 (CaseRe-1: o =3.0, B=1.0, ¥ =90°, Re_ =28,130)
ELIATR U T 47 (CaseRe-2: o0 =3.0, p= 1.0, ¥ =90°, Re,_ = 56,261)
BELIEAGER v/ T' 5% (CaseRe-2: = 3.0, B=1.0, 7 =90°, Re,_ =56,261)
ELAIAH W' T 54 (CaseRe-2: @ =3.0, B=1.0, y =90°, Re,_ = 56,261) -

FEERHME (=1, j=10) BT 2 8RBT HEIENE COBRED & THAF2HE)
(Case a-1: 0i=1.0, B=1.0, Y=90°, Re, =5,626)

FRERHFED 58 3 mm L& (=5, j=10) =B+ 3 ERHBTHREECECORED > XWRY]
EF  (Case a-1: 0=1.0, B=1.0, y=90°, Re_ =5,626)

ERERR (=5, j=10) I2 B 2 AMB TR EIEML B CORED b S AT
(Case -1 : a=1.0, B=1.0, Y=90°, Re_=5,626)

ERERES 58 3 mm (LB (=15, j=10) 2B 3 SHB TRESEMECORE® & XA
5 (Casea-1: =10, f=1.0, y=90°, Re_=5,626)

ERERE (=20, =10) K BIF 2 EHB THIEME CHOBED® b XHRTI2E
(Case -1 : a=1.0, B=1.0, Y=90°, Re_=5,626)

ERERHE (i=1,j=10) LB 2 AHBTRIEME COREG & Ko RFIZH)
(Case 02 : @=2.0, B=1.0, =90, Re_=5,626)

FERERHIED 58 3 mm (1 (i=5, j=10) 12 BT 2 AR TR EBLE COEED & A4
Z8)  (Case x-2: a=2.0, p=1.0, y=00°, Re_=5,626)

EREHR (=5, =100 KB 4RBTHIERB CORE® b Xr 528
(Case 02 : 0=2.0, B=1.0, y=00°, Re_=5,626)

FRERED 599 3 mm (L# (=15, j=10) K BH 3 SRS THREIECECORE® & XI5 A7)
ZE)  (Case -2 : 0=2.0, B=1.0, y=90°, Re_=5,626)

ERERT (=20, j=10) (2 BT 2 ARB TR EEME COBRED S EHRFI2H)
(Case -2 : =2.0, B=1.0, y=90°, Re  =5,626) '

ERERHFA (i=1,j=10) (2B B 5B TR EEME CORED & X0 RTS8
(Case 0-3 : 0=3.0, B=1.0, y=90°, Re =5,626)
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& A.

& A.

El A.

& A.

= A.

E] A.

= A,

= A.

B A

Bl A,

H A.

X A.

B A.

& A.

B A.

B A.

X A.

X A.

A

= A,

12

13

14

15

16

17

18

. 19

.20

21

22

23

24

25

26

27

28

29

30

31

32

33

EEERIFED S 3 mm E (1—5 FIH B ERETREENE CORED b X5 A
£ (Case0-3: a=3.0, f=1.0, y=90°, Re_=5,626)
ERR (=5, j<10) 12 BT 3 2B TR EEMBECORED & X5 AFI2E
(Case -3 : =3.0, f=1.0, Y=00°, Re, =5,626)
ERERED LM 3 mm LE (=15, j=10) 12547 2 AMBFHEELBECTORES b XEERS|
ZE) (Case -3 : 0=3.0, B=1.0, y=90°, Re_=5,626)
ERERE (=20, j=10) 2B 2 ARBTHEENE TORES® b FHRTIEH
(Case a4 : 0=5.0, B=1.0, Y=90°, Re_=5,626)
ERERHIAE (i=1,j=10) BT 2 4HBTHEIENE COREY b LHAFIE
(Case 0i-4 : =5.0, B=1.0, y=090°, Re, =5,626)
EERERFTL H# 3 mm fLE (i=5, j=10) 1281 3 SRS T HEIERC B CORED & ERERA
B  (Case 0-4 : 0=5.0, B=1.0, y=90°, Re, =5,626)
EREPR (=5, =10) IC B 2 SRV TR EBMLE TORED & SERFIZEH
(Case 0:-4 : @=5.0, B=1.0, Y=90°, Re, =5,626)
ERERESSH 3 mm WLE (=15, j=10) KB 3 SRBFHREBNECORED & XEEL5)
HE)  (Case 0-4: 00=5.0, B=1.0, y=90°, Re - =5,626)
FEERE (=20, j=10) 128175 4 vfi%?ﬁaﬁ%ﬁﬁr@rmiﬁt@e SR RTIEEH)
(Case 0i-4 : 0=5.0, B=1.0, y=90°, Re, =5,626)
CERHIE (=1, j=10) IC B 3 SRBTHEEME CORED & KR RFIZH
(Case &-5 : 0t=10.0, B=1.0, y=00°, Re_=5,626)
ERERHES 54 3 mm GLE (=5, j=10) 1B 2 SHB TR L ENE “C@m}%@ o ERRYY
ZH) (Case 0-5: a=10.0, f=1.0, y=90°, Re m=3:626)
FERERLE (=5, j=10) BT 5 Aﬁ%ﬁ‘ﬁ‘ﬁf%ﬁﬁ*@@iﬂﬁ%@ b EFRERYIZE)
(Case -5 : a=10.0, B=1.0, y=90°, Re_=5,626)
ERERED 549 3 mm iZE (=15, j=10) 280 3 CHB T REBL B TOREW b KB A5
28 (Case -5 : 0=10.0, B=1.0, v=90°, Re_=5,626)
ERERE (=20,j=10) I2BIT 2 AMBTRESMBECORED &5 SRR
(Case 0-5 : 0=10.0, B=1.0, y=90°, Re_ =5,626)
ERERIE (=1, j=10) KB ZERBTREEMLBCTORED b X AFIRH
(Case BI-1 : a=1.0, B=0.25, y=00°, Re_=1,407)
ERERHE D 5H 3 mm fLE (=5, j=10) =BT 2 A MB TR EEMECOREY & ZHERA
ZF) (Case Bl-1: a=1.0, B=0.25, y=90°, Re  =1,407)
EREPR (=5,j=10) LB 2 4B TREBNETORED b SELAFEH)
(Case BI-1: a=1.0, B=0.25, y=90°, R Re, =1.407)
ERERED 549 3 mm L@ (=15, j=10) 2B} 5 EHBTHEEMBECORE® b XA
Z8) (Case BI-1: a=1.0, B=0.25, y=90°, Re, =1,407)
ERERE (=20, j=10) IS BT 2 8RB T REBMLE COBRED & KB A28
(Case BI-1 : 0:=1.0, B=0.25, y=90°, Re _=1,407)
ERERHAMW (=1, j=10) (2B 5 FRB T BT B TORE® b ¥R RFRE
(Case Bl-2: a=1.0, B=0.5, y=00°, Re,_=2,813)
ERHE2 5 3 mm HE (=5, j=10) I mm%ﬁiﬁﬁzﬁu BETORED & TRERY
252@1 (Case B1-2: 0=1.0, B=0.5, y=90°, Re,_=2,813) .
EREWR (i=5,j=10) (LB 2 ARB TR EBM B TORED & XERFI2EH)
(Case B1-2 : a=1.0, B=0.5, y=90°; Re =2.813)

xi
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H A

B A.

& A.

2 A.

= A.

& A.

= A.

B A.

X A.

B4 A,

Bl A.

X A.

X A.

X A,

B A,

E A.

4 A

B A.

& A.

34

35

36

37

38

39

40

41

42

. 43

.44

45

46

47

48

. 49

51

52

54

35

FEERED 58 3 mm LE (i=15,j=10) BT AR T EMECOERED b XEAH]
#B) (Case p1-2: 0=1.0, B=0.5, y=90°, Re_=2,813)

FEERE (=20, j=10) i2 BT 5 AHBTREBME CORED 5 KERTIZEH
(Case B1-2: @=1.0, B=0.5, y=90°, Re_=2,813)

EREFIME (=1, j=10) 1B 2 AR TR EEME TOREY O X RFI58)
(Case B1-3 : =10, B=2.0, Y=90°, Re,=11,252)

FEERHAES S 3 mm f# (=5, j=10) BT 2 4HBTREEMN B CORED & SR
FB)  (Case Bl-3: a=1.0, B=2.0, y=00°, Re,_=11,252)

EREPR (=5, <10 B I 4HBTHIEN B CORED & Sk AFI2T)
(Case B1-3 : a=1.0, B=2.0, y=00°, Re,_=11,252)

FERERED 5 3 mm fLE (=15, j=10) I2 BT 3 SRB TR LEMB CTORED & XI5AT
%E) (CasePl-3: a=1.0, B=2.0, y=90°, Re _=11,252)

EERERHE (=20, j=10) (C BT 2 B TR ESHNE CORED S g BERFUSSE
(Case B1-3: @=1.0, B=2.0, y=90°, Re_=11,252)

ERERFME (=1, j=10) I BT 5 AEB TREEME CORE® & S RTIREH
(Case $1-4 : a=1.0, f=4.0, y=50°, Re =22,504)

FERERFEEHS S 3 mm ME (=5, j=10) 2 BI1T 5 Aﬁ“BTﬁEEu?’C@mE@ 5 ERERS
2B (Case f1-4: a=1.0, f=4.0, y=90°, Re_=22,504)

EEERR (=5, j=10) I2B1F 3 éﬁ%ﬁﬁz%ﬁﬁrmmr&@ 5 TR RTIEE)
(Case P-4 : @=1.0, B=4.0, y=90°, Re _=22,504) _

FRFRED 58 3 mm fiLE (=15, j=10) 12 BT A G RBTHRIBENEB COBRED & XA
#T)  (Case B1-4: a=1.0, p=4.0, y=90°, Re_=22,504)

EECERT (i=20, j=10) X BT 2 AMHE THIBENBETORE® b SrERTIE)
(Case B1-4: a=1.0, B=4.0, y=00°, Re_=22,504)

EREXRIE (=1, =10) 12 BT 2 MM TREIBME TORED & LEERFILSEH
(Case B2-1: 0x=3.0, B=0.5, y=90°, Re_=5,626) °

FRERHE S 54 3 mm ALE (i=5, =10) LB 2 8RB TREBMB CORED 5 XEAY|
W) (Case f2-1 : a=3.0, B=0.5, y=90°, Re, =5,626)

ERE PR (=5, j=10) BT 5 AWM THEECE COBRED > X RFI2%H
(Case B2-1 : 0=3.0, B=0.5, y=00°, Re,_=5,626)

EREREA, S 3 mm {7 (=15, =210 KB 2 4RF THIEMBTOEED S A5

ZE) (Case f2-1: a=3.0, B=0.5, y=90°, Re, =5,626)
FEERME (=20, j=10) (2 BT 5 Amnﬁ‘ﬁﬁi?u%v@wﬁ@ b EBRTIEE)
(Case B2-1: 0:=3.0, B=0.5, y=90°, Re,=5,626)
FREXRFME (=1, j=10) =BT 2 zﬁ*“B‘FﬁEEu TOHRED b KRR 58
(Case B2-2 : a=3.0, B=5.0, y=90°, Re,_=5,626)
EERERHED S 3 mm E (=5, =10 KBIT A2 8RE THIBENETOREWD & XA
FH) (Case f2-2: 0=3.0, B=5.0, y=90°, Re_=5,626)
LB SR (=5, j=10) LB 5 4B FTHEELE CORE® & KB RFIEE)
(Case f2-2: a=3.0, B=5.0, y=90°, Re _=5,626)
ERERES S 3 mm (LB (=15, =10 2 BT 2 EHB T REBLBETORED & SHRS)
ZH) (Case $2-2 : 0=3.0, B=5.0, 7=90°, Re =3,626)
FEERME (i=20, j=10) 125t 5 4 ﬁ.gﬁ—l“muﬂigﬁ.gf@h}%@ b E B#"f‘ﬁ”’%eﬁﬂ
(Case 2-2: @=3.0, B=5.0, =90°, Re_=5,626)

xii
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X A.

= A.

5 A.

E A.

B A.

= A.

= A.

X A.

X A.

2 A.

B A.

& A.

X A.

E A.

= A.

X A.

= A.

& A.

B A.

X A.
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7%

ERERHE (=1,j=10) BT 5 GRBTHIBEMLB CORED 5 SERFIZLE
(Case B2-3 : =3.0, =10.0, Y=90°, Re,=5,626)

EERERFED 5% 3 mm E (=5, j=10) LBV 5 SHB TR EIENB CORED & FBEAT|
B (Case f2-3 : ¢=3.0, B=10.0, y=90°, Re_=5,626)

EREPR (=5, j=10) X B 2 GRB T RIBELE CORED > SRELF|25)
(Case f2-3 : 0:=3.0, B=10.0, y=90°, Re_=5,626)

ERERMD 54 3 mm LB (=15, j=10) BT 3 SHB FRIERCECORED 5 ERFRYY
B (Case f2-3 : 1=3.0, B=10.0, y=90°, Re =5,626)

ERERE (i=20, j=10) L BT 2 AR THEIENETORE® & RTS8
(Case f2-3 : a=3.0, B=10.0, y=00°, Re_=5,626)

ERERHAE (=1, j=10) BT 2 8MM THEENB COERED S é’ R RF 28)
(Case y-1: 0:=3.0, B=1.0, y=50°, Re_=11,252)

ERERHED S 3 mm L& (=5, j=10) 12817 3 ARB F R EERL B CORED & XEE 25
ZH) (Casey-1: a=3.0, B=1.0, y=90°, Re =11,252)

EREFR (=5, j=10) ILBIT 2 AMB TREEME COBRLD & K RFIREH
(Case y-1: 2=3.0, B=1.0, =90, Re_=11,252)

FERERED 58 3 mm L# (=15, j=10) KB 5 SMB T REBHE TORE® & X8 %4
ZEF) (Casey-1: 0=3.0, B=1.0, y=90°, Re =11,252)

EEERE (i=20,j=10) 2B 2 AMBTFRIENBTORE® b SRERFI2E
(Case y-1: a=3.0, B=1.0, y=90°, Re_=11,252)

EREXRHE (=1,j=10) CBF 2 SRE TREENE TORED & KBS RFI2H
(Case y-2: @=3.0, B~1.0, y=180°, Re_=11,252)

ERERFMD 54 3 mm (LR (=5, j=10) 2B 2 ARBTREIELECOBED b X555
B (Casey-2:=3.0, B=1.0, y=180°, Re, =11,252)

EREPR (i=5,j=10) K BT 2 GRB THEEL R TOBRED & FisRFI2H
(Case y-2 : @=3.0, B=1.0, y=180°, Re_=11,252)

ERERED 58 3 mm fE (=15, j=10) B 32 A HB FRIELE COEED & ZHERF
£E (Casey-2: 0=3.0, f=1.0, y=180°, Re =11,252)

ERERE (=20, j=10) KB 2 ARB TR EBMBE CORED b FERFI2H
(Case y-2: @=3.0, f=1.0, y=180°, Re_=11,252)
ERERHAE (i=1,j=10) KB 5 ERB T LEN B TOBRED & SrE AT
- (Case -3 : 0=3.0, B=1.0, y=0°, Re _=11,252)
ERERHEH 54 3 mm 2@ (=5, =10) 12 BV 2 A RB T HEERB CORED & ¥ T
ZE) (Casey-3:0=3.0, B=1.0, y=0°, Re =11252)

FEREPR (=5, j=10) 1251+ 2 %aﬁ%ﬁTﬁEEu%T DIRED & EHs RFIEE)
(Case v-3: @=3.0, B=1.0, y=0°, Re_=11,252)

ERERED 54 3 mm (L8 (=15, j<10) i BT 5 & ﬁ%TﬁI%ﬂE“@@mﬁ@ b iG]
28] (Casey-3: a=3.0, p=1.0, y=0°, Re m=11,252)

FEERE (=20, j=10) = BiT % mm%ﬁ?m&?u%‘f@vmiﬁme ERFRT|EG)
(Casey -3: a=3.0, B=1.0, y=0°, Re_=11,252)

ERHIME (=1,j=10) B 2GR TR EBTETORED S 3’%%%%@1

(Case Re-1: a=3.0, B=1.0, y=00°, Re_=28,130)
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EFRERHAED 58 3 mm MLE (=5, j=10) LB 2 EHBTREIBLE COBRED & K25
W (CaseRe-1: a=3.0, B=1.0, y=90°, Re_=28,130)

EEE PR (=5, j=10) I B 2 SMB TREBLB TORED & K RFIZE
(Case Re-1 : @=3.0, B=1.0, y=90°, Re, =28,130)
FEERED 5 3 mm 28 (=15, j=10) 2B 54 o.LﬁK‘FﬁEEQ TOREDLE H#;ﬂbﬂ
%) (CaseRe-1: a=3.0, B=1.0, y=950°, Re_=28,130) _

ERERMT (=20, j=10) 1B 3 AHB TREBME CORED b FH RIS
(Case Re-1 : =3.0, B=1.0, Y=90°, Re, =28,130)

EREREH (i=1,j=10) B3RP THEIECE CORED b SERFIZH
(Case Re-2 : =3.0, B=1.0, v=00°, Re =56,261)

ERERHFEH 58 3 mm LE (=5, j=10) 1B 2 8 HEE T FEMBTORED® L X155
FF) (CaseRe-2: 0=3.0, B=1.0, y=00°, Re_=56,261)

EEEHR (=5,j=10) BT 2 ARBTHIBLE COBRED > XIE AT 28
(Case Re-2 : 0=3.0, B=1.0, y=90°, Re_=56,261)

EEEREDY S# 3 mm LE (=15, j<10) 2B 3 SR T EEMBCORED % RE AT
#B) (CaseRe-2: 0=3.0, p=1.0, y=90°, Re=56,261)

FEERE (=20, j=10) 12 BT 3 Am.ﬁ*ﬁﬂﬁf%h%’@@rmﬁ@ bHE B#naﬁua%—ﬁﬁb
(CaseRe-2: a=3.0, B=1.0, y=90°, Re_=56,261)
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